SO GIAO DUC VA PAO TAO DE THI THU TIENG ANH VAO LOP 10 THPT
- ” NAM HQC: 2014 — 2015
PE THI SO 10-04 e ‘
[ ] Thoi gian: 60 phut (khong ké thoi gian phat dé)

(Pé thi gom 02 trang)

H9 vatén:.......... RER LTI LLE ST EI Lo dan thi sinh: Thi sinh lim bai truc tiép vao dé‘? thi ndy.
LOp ............... Sobaodanh................... Thi sinh khéng dwoc st dung bat cir tai liéu nao ké ca tir dién.
DPiém Giam khao Giam thi 1 Giam thij 2

(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. lived B. looked C. missed D. watched
2. A. where B. why C. who D. what
3. A. share B. fare C. declare D. aren’t
(4 — 13) Choose the word or phrase (A,B,C or D) that best fits the blank space in each sentence: (3 pts)
4. I wished she very far from school.

A. doesn’t live B. isn’t live C. not lived D. didn’t live
5. A book tells the story of a person’s life is a biography.

A. who B. where C. which D. whom
6. Mr Nam wants to buy a plasma TV, ?

A. don’t he B. doesn’t he C.isn’t he D. didn’t he
7. My mother coffee every morning.

A. drinks B. drink C. is drinking D. drank
8. If you work hard, you in the final exam.

A. pass B. will pass C. passed D. would pass
9. I finally finished at 7 o’clock in the evening and served dinner.

A. cook B. to cook C. cooked D. cooking
10. He said he to the city with her sister the following day.

A. will visit B. can visit C. is visiting D. would visit
11. Mary is the student in the class, base on her high grade.

A. smart B. smarter C. smartest D. more smart
12. Nowsaday, we can watch a of interesting programs on TV.

A. vary B. various C. variously D. variety
13. T use the internet only a few hours a day it is time-consuming and costly.

A. s0 B. because of C. because D. even though

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. Your brother likes watching documentaries, isn’t he?
A B C D
15. I suggest to have a separate wastebasket for wastepaper.
A B C D
16. The road to our village should be widening soon.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following
passage:(4 pts)

Everyone wants to reduce (17) . But the pollution problem is as complicated as it is
(18) . Itis complicated because much pollution is caused by things that benefit people. For
example, (19) from automobiles causes large percentage (20) air pollution.




But the automobile provides transportation to millions of people. (21) discharge much of
the material that pollutes air and water, but factories give employment to a large number of people.

Thus, to end or greatly (22) pollution immediately people would have to stop using many
things that benefit them. Most people do not want to do that, of course. But pollution can be
gradually reduced in several ways. (23) and engineers can work to find ways to lessen the
amount of pollution that such things as automobiles and factories cause. Governments can pass and
enforce laws that (24) businesses and individuals to stop, or cut down on certain polluting
activities.

17. A pollute B. pollution C. polluted D. polluting

18. A. seriousness B. serious C. seriously D. serioused

19. A. exhaust B. exhausted C. exhaustedly D. exhauster

20. A.to B. with C.in D. of

21. A. Hills B. Mountains C. Factories D. Rivers

22. A reducing B. reduced C. reduce D. reduction

23.  A. Doctors B. Engineers C. Workers D. Scientists

24. A.require B. Requires C. required D. requiring

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)

25. His made us happy. (Friend)

26. Ha Noi is not very from Kuala Lumpur (Differ)

27. We went to see many places in Hanoi. (Fame)

28. The religion in Malaysia is Islam. (Nation)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2 pts)

The Internet has rapidly developed and become part of our daily life. It is a very fast and
convenient way to get information. People use the Internet for many purposes: education,
communication, entertainment and commerce. The Internet helps people communicate with friends
and relatives by means of e-mail or chatting.

However, the Internet has limitations. It is time-consuming and costly. It is also dangerous
because of viruses and bad programs. On the other hand, the Internet users sometimes have to suffer
various risks such as spam or electronic junk mail and personal information leaking. So while
enjoying surfing, be alert!

Statements True | False
29. The main idea of the passage is about advantages of the Internet.
30. We can use the internet as a fast and convenient way to get information.
31. The disadvantages of the Internet are costly and time consuming.
32. we can get in touch with each other by means of e-mail or chatting.
(33 — 36) Complete the second sentences in such a way that it means the same as the original
one.( 4 pts)
33. They last talked to each other three months ago
=> TREY hAVEN™t .ociiiiiii ettt e e e e e e e ettt e e e e e e e s
34. You must wash this sweater in warm water.
T2 THIS SWEALET ...eeeiiteeiitte ettt ettt e ettt ettt e sttt e e ettt e st e e et e e sabeeeebteesensaees
35. Do the test carefully or you’ll get bad mark.

36. I don’t know many English words.
T L WASH ¢t ettt et e e

THE END AND GOOD LUCK
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(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. lived B. looked C. missed D. watched
2. A. where B. why C. who D. what
3. A. share B. fare C. declare D. aren’t
(4 — 13) Choose the word or phrase (4,B,C or D) that best fits the blank space in each sentence: (5 pts)
4. I wished she very far from school.

A. doesn’t live B. isn’t live C. not lived D. didn’t live
5. A book tells the story of a person’s life is a biography.

A. who B. where C. which D. whom
6. Mr. Nam wants to buy a plasma TV, ?

A. don’t he B. doesn’t he C.isn’t he D. didn’t he
7. My mother coffee every morning.

A. drinks B. drink C. is drinking D. drank
8. If you work hard, you in the final exam.

A. pass B. will pass C. passed D. would pass
9. I finally finished at 7 o’clock in the evening and served dinner.

A. cook B. to cook C. cooked D. cooking
10. He said he to the city with her sister the following day.

A. will visit B. can visit C. is visiting D. would visit
11. Mary is the student in the class, base on her high grade.

A. smart B. smarter C. smartest D. more smart
12. Nowadays, we can watch a of interesting programs on TV.

A. vary B. various C. variously D. variety
13. T use the internet only a few hours a day it is time-consuming and costly.

A. s0 B. because of C. because D. even though

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. Your brother likes watching documentaries, isn’t he?
A B C D
15. I suggest to have a separate wastebasket for wastepaper.
A B C D
16. The road to our village should be widening soon.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following
passage:(4 pts)

Everyone wants to reduce (17) . But the pollution problem is as complicated as it is
(18) . Itis complicated because much pollution is caused by things that benefit people. For
example, (19) from automobiles causes large percentage (20) air pollution.




But the automobile provides transportation to millions of people. (21) discharge much of
the material that pollutes air and water, but factories give employment to a large number of people.

Thus, to end or greatly (22) pollution immediately people would have to stop using many
things that benefit them. Most people do not want to do that, of course. But pollution can be
gradually reduced in several ways. (23) and engineers can work to find ways to lessen the
amount of pollution that such things as automobiles and factories cause. Governments can pass and
enforce laws that (24) businesses and individuals to stop, or cut down on certain polluting
activities.

17. A pollute B. pollution C. polluted D. polluting

18. A. seriousness B. serious C. seriously D. serioused

19. A. exhaust B. exhausted C. exhaustedly D. exhauster

20. A.to B. with C.in D. of

21. A Hills B. Mountains C. Factories D. Rivers

22. A reducing B. reduced C. reduce D. reduction

23.  A. Doctors B. Engineers C. Workers D. Scientists

24. A.require B. Requires C. required D. requiring

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)

25. His _ friendliness made us happy. (Friend)

26. Hanoi is not very __ different from Kuala Lumpur (Differ)

27. We went to see many ___famous __ places in Hanoi. (Fame)

28. The _ national _religion in Malaysia is Islam. (Nation)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2 pts)

The Internet has rapidly developed and become part of our daily life. It is a very fast and
convenient way to get information. People use the Internet for many purposes: education,
communication, entertainment and commerce. The Internet helps people communicate with friends
and relatives by means of e-mail or chatting.

However, the Internet has limitations. It is time-consuming and costly. It is also dangerous
because of viruses and bad programs. On the other hand, the Internet users sometimes have to suffer
various risks such as spam or electronic junk mail and personal information leaking. So while
enjoying surfing, be alert !

Statements True | False
29. The main idea of the passage is about advantages of the Internet. F
30. We can use the internet as a fast and convenient way to get information. T
31. The disadvantages of the Internet are costly and time consuming. T
32. we can get in touch with each other by means of e-mail or chatting. T
(33 — 36) Complete the second sentences in such a way that it means the same as the original

one.( 4 pts)
33. They last talked to each other three months ago

=> They haven’t_ talked to each other for three months
34. You must wash this sweater in warm water.

=> This sweater ___ must be washed in warm water
35. Do the test carefully or you’ll get bad mark.
=>1If you don’t do the test carefully, you will get bad mark
36. I don’t know many English words.

=> [ wish_ I knew many English words

THE END AND GOOD LUCK
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